INSTALLING T400 LOAD SENSORS

/ FIVE HOLES, DRILLED AND TAPPED IN PRESS MEMBER.

TORQUE EACH 1/4-28 x 3/4 IN. LONG
SOCKET HEAD SCREW TO 150 LB.-IN.
OR 12.5LB.-FT.

/ TWO ANTI-TORQUE WASHERS

FOUR LOC-WEL BOLTS

/ 3/4 INCH LONG

TORQUE EACH 1/4-28 x 3/4 IN. LONG
SOCKET HEAD SCREW TO 150 LB.-IN.
OR12.5LB.-FT.

The above illustrations represent the proper arrangement of Model T400 Load Sensor kit

parts using either the Drill and Tap method or the Weld method.

A proper installation is necessary to produce good results.

Before installing the sensors, please read the appropriate instructions listed below.

Sensor Placement Page 2
Press Frame Page 3
Pitman Mount Page 4
Drill and Tap Method of Installing Sensors Page 5
Weld Method of Installing Sensors Page 6
T400 Enclosure Mounting Details Page 7
Doc #: 11080 Rev :A T400 INSTALLATION

PAGE 1



NOISN3L

SSINMOIHL INO™S

|

SSINMOIHL dv3d ‘i
S

NOISS3ddINOD

"uoisus} jo peajsul sbuipess uoissaldwoo

Jo} uoneauuod Jndul 8y} jsnlpy Jeal sy} ul

Josuss ay} aoe|d usy) ‘Jable| s SSaUNDIY} JUOIL B} §|
(‘'uowwoo Jsow ayj si SIY|) 'JUOCJ} BY} Ul SIOSUSS
unow uayy D ul anjeA uey}

Ja|lews sI SSauXDIy} JUOL) BY} |

1NOYA
SSANMOIHL INOY4 IHL F4NSVAN -

| = € X 33YHLAGATAILINW .

dv3d
SSANMOIHL dVv3d FHL FHNSYAN «

NOILvOO1 1s39 3H1 ANINY313d O1L MOH

("eale papeys ay}

Ul umoys) ‘ssaid ayj Jo Jeal ay} Io
JUol} 8y "SUOI}EO0| OM} BABY NOA
"paUILLLISEP 8 }SNW UONED0| JOSUSS

INJWN3OV'1d dOSN3S

'S3TO0H LNO-MOONM IHL NI S43113y
NIVY1S .2/l ONISN 1STDONS IM ‘d3sn
S| LINANOD 41 "'S3TOH LNO-MDONM
+2/1 AANTONI STYNSOTONT ISTHL
'SIONVYO YOSNIAS 0071 IHL
10310¥d d13H 3IS3HL "d3aNn1ONI
J¥VY STYNSOTONT HOSNIS (2) (2
a3axdiNndIy SYOSN3S (2) (1L

‘S31ON

PAGE 2

T400 INSTALLATION

Doc#: 11080 Rev:A



“H31S709 YO NMOYD IHL WOHS
HLAIM NINNT02 (1) NYHL ¥3S010 SHOSNIS
ONILYO01 AIOAY ‘F19ISSOd 4l ‘SASYD 11V NI

‘IN08V d349140S3d

SV S310H dIOAY 'NOILO3S SSOHO

1SV37 40 Y3V NV NI SHOSN3S T1VLSNI
'S3SST™ FNVHL AAVIH AYIA HO

S3SS3dd JNVHL 1SVD ¥04 dNNHL 40 31NY

4

1€/

"ANVYH4 SS3dd 3IHL NI LNO 1ND 34V
1VHL S310H 3H1 40 3903 WOL109
¥0 3903 dO1 IHL NOHH .l NVHL
¥3ISOTO SHOSNIS ONITIVLSNI AIOAVY

'SS3dd INVHL TIVM 3719n0A v S LI
41 “'FINVYES TV SSTHd IAISNI IHL
NO SHOSN3S TIVLSNI 319ISSOd 4|

R
1HOIHdN 40 ‘38 TIM JONVINHO SN

NINNT10D 40 S/ ¥31139 IHL QO 3L IHL
H19N31 =1 OL SI HOSN3AS V ¥3S0T10 IHL

d3g/431s7104

} YOSNIS avOT

¢/l ‘dod 3L 3HL 40
3INIT ¥3LIN3D IHL NO LHOIddN

/NINNTOD 40 H1ON31T €/1 37adIN
3HL NI SI NOILYOO1 JOSN3S 1s34d

1HOIEddN / NWNTOD

'SONINIdO ONILVIH dOY FIL dvaN LINANOD NNY LON 04 ‘NOILNVYD

JUNSOTONIANY | |

‘AINO S3HIM 4OSNIS dVOT1 d04 1INANOD

1NN dNV dOd 311

PAGE 3

T400 INSTALLATION

Doc#: 11080 Rev:A



'SHOSNIS H1O09 MOHS OL M3IA

>>\/ "ONISNOH IN3NLsSNrav 3aaiis

‘3AI1s / NvH 7

X04 'W¥31 39Nl LX3IN OL 1LINANOD
| .

7 '3d117S ONIAOW 3FHL 40 1NO NIHL ANV

'14-976°¢C1 J0
NI-g70S) Ol 1109 HOSN3S
7 v/€ X 82-¥/L HOVZ 3NDAYOL

"d3NOLSND A9 "XO4d NOILYNING3L 39nL
¢SC-S0vC# 1d LNN MOOT HLIM HOLOINNOD 431734 NIVHLS
¢88-GLve# 1d "31ON 33S 'ONIGNL NOOAL ‘a’l ‘Ul v/l
CSC-€0PCi# 1d "WIHSVYM INOHOL IIV1d3d dINV1O ANV dvd 319v0 INDHOL

JONIHIHNNDHID NO FLISOddO S33493d 081 A31vIO0T
‘a3¥IND3Y SHOSNIS OML "MOSNIS AvO100vL

'AINO Fd3H "WIHSYM INDHOL 319VD

INJNLISNrav 3ains oL
3aNd SIAOW NVINLLIH
JH1L NIHM d3d33N
ANOVIS 319V HO4

SI 4007 39NnL 3IHL

‘310N

2

NVINLIA

PAGE 4

T400 INSTALLATION

Doc#: 11080 Rev:A



USING THE T400 SENSOR

INSTALLATION FIXTURE KIT No. 1977-749

(METRIC INSTALLATION FIXTURE KIT No. 1974-749)

DRILL AND TAP METHOD FOR MOUNTING SENSORS

BE SURE THE SENSOR LOCATION FOLLOWS THE BEST
LOCATION DESCRIBED ON THE PREVIOUS PAGES.

#3 DRILL
(5mm)

STEP 2

1/4-28 TAP
(METRIC 6-1)

#3 DRILL

STEPS 3-4 DRILL THROUGH
FOUR SMALL HOLES

O
303

1/4-28 X 1-1/4 SCREW
(METRIC 6-1 X 35)

ROTATE FIXTURE
90 DEGREES
09
O
AN

DRILL THROUGH THE
TWO SMALL CENTERED

HOLES
ROTATE FIXTURE
90 DEGREES

\1/4-28 TAP
(METRIC 6-1)

STEP 5

STEPS 6-7

TAP THROUGH FOUR
LARGE HOLES

ANTI-TORQUE
-~ WASHERS

1/4-28 x 3/4
- / LOC-WEL BOLTS

PUT RAISED
RIB TO PRESS

Doc#: 11080 Rev:A

STEP 1

STEP 2

STEP 3

STEP 4

STEP 5

STEP 6

STEP 7

STEP 8

STEP 9

T400 INSTALLATION

Remove all paint and grease from sensor mount area. If the
machine surface is flat (total indicated reading of .002”") and smooth
(125 p in.) the load sensor can be bolted directly to the surface.

Drill and tap the center hole for mounting the fixture to the press
member. This hole should be ' inch (13mm) deep.

Bolt the fixture to the press member using the %4-28 by 1-% inch
(M6-1 x 35) long socket head cap screw in the center of the fixture.

Insert the number 3 drill (Smm) into the smaller corner hole and
drill out all four holes to a depth of % of an inch (19mm.)

Loosen the fixture. Rotate the fixture 90 degrees clockwise.
Tighten the center screw of the fixture. Insert the number 21 drill
into the small centered hole and drill out both holes to a depth of
3/8 of an inch. These holes are for mounting the sensor enclosure.
The fixture does not allow for tapping these holes. They are
tapped without the fixture. Enclosure mounting is not done in
metric.

Loosen the fixture. Rotate the fixture another 90 degrees
clockwise such that the larger corner holes line up with the holes
drilled in Step 4. Insert a tap to be sure the holes line up. Lock
the fixture in place by tightening the center screw.

Insert the tap into the larger tap guide holes and tap each hole.

BE SURE TO USE PLENTY OF TAPPING FLUID.

Remove the fixture and repeat Steps 1-7 for each additional
sensor mounting position.

Mount the sensor with the raised rib to the press. The anti-torque
washers should go between the screw and the sensor body.
Torque each %4-28 x % in. long socket head cap screw to

150 LB.-IN or 12.5 LB.-FT.

PAGE 5



USING THE T400 SENSOR

INSTALLATION FIXTURE KIT No. 1977-749

WELD PAD METHOD FOR MOUNTING SENSORS

BE SURE THE SENSOR LOCATION FOLLOWS THE BEST
LOCATION DESCRIBED ON THE PREVIOUS PAGES.

STEP 1

STEP 2

STEP 2

\ ROTATE FIXTURE
90 DEGREES
04 STEP 3

1/4-28 X 1-1/4 SCREW

STEP 3

#21 DRILL
TWO SMALL CENTERED
HOLES FOR ENCLOSURE

STEP 4

STEP 4

STEP 5

STEP5 O

WELD EACH STEP 6

PAD ON THREE
SIDES ONLY

ANTI-TORQUE
/ WASHERS

1/4-28 x 3/4
/ LOC-WEL BOLTS

STEP 7

PUT RAISED
RIB TO PRESS

Remove all paint, grease, and or rust from surface to be welded.
(Surface should be flat T.I.R. 1/32 of an inch.)

Drill and tap the center hole for mounting the fixture to the press
member. This hole should be ' inch deep. (Optional)

Bolt the fixture to the press member using the %-28 by 1-% inch
long socket head cap screw in the center of the fixture. Orient
the fixture as shown and drill out the #21 holes to a depth of 3/8
of an inch for the enclosure mounting. The fixture is not used
for tapping these holes. (Optional)

Remove the fixture from the press member. Bolt the weld pads
to the fixture with %-28 by 1 inch long socket head cap screws
provided. Reattach the fixture with the weld pads bolted on
using the center hole as in Step 3. Orient the fixture as shown.

Weld the weld pads to the press member. (BE SURE TO
ONLY WELD THE WELD PADS ON THREE SIDES AS
SHOWN.) A single pass is sufficient. Do not remove the
fixture until slag is removed and or assembly has cooled. When
welding cast iron, use a dry nickel rod such as: Lincoln Electric
“Soft Weld”, Hobart “NI Cast 99”, or MB Weld Prod. “MG
210. Strike arc on steel then puddle into the cast iron.

Remove the weld fixture. DO NOT WELD AFTER FIXTURE
IS REMOVED. The 4 screws holding the pads to the fixture and
the 1 center screw may be discarded. DO NOT USE THE
FOUR 1 INCH LONG SCREWS TO ASSEMBLE SENSOR.
The sensor kit contains four % inch long screws for assembling
the sensor to the press member. Weld pad surface must be clean
—no weld bumps, scratches, etc. Be sure the weld pad tapped
holes are clean and bottom of holes are free of weld flash.

Mount the sensor with the raised rib to the press. The anti-
torque washers should go between the screw and the sensor
body. Torque each %4-28 x % in. long socket head screw to 150

LB.-IN or 12.5 LB.-FT.

Doc #: 11080 Rev:A T400 INSTALLATION PAGE 6



SENSOR ENCLOSURE MOUNTING

USE 10-32 TAP IN THE TWO 3/8 DEEP
HOLES THAT WERE DRILLED WITH THE
FIXTURE IN THE PREVIOUS INSTRUCTIONS.
MOUNT THE ENCLOSURE TO THE PRESS
MEMBER AND RUN 1/2 INCH CONDUIT

TO THE LOAD MONITOR ENCLOSURE.

TAP THESE HOLES
WITH 10-32 TAP

10-32 x 3/8 PAN HEAD MACHINE SCREW.

1/4-28 x 3/4 SOC. HD. SCREW

SENSOR ENCLOSURE

Doc#: 11080 Rev:A

RUN SENSOR CABLE THROUGH CONDUIT. PLACE
SENSOR ON MOUNTING HOLES. PLACE ANTI-
TORQUE WASHERS OVER SENSOR HOLES.
SCREW IN SENSORS BOLTS, (4) EACH, FINGER
TIGHT. USE ONLY THE 1/4-28 x 3/4 "LOC-WEL"
BOLTS THAT ARE IN THE SENSOR PACKAGE.
TORQUE EACH 1/4-28 x 3/4 SCREW TO 150 LB.-IN.
OR 12.5LB.-FT. ASSEMBLE BOX COVER.

© ©

LOAD CONDUIT
SENSOR
@ MODEL T400
bl SIN
T400 INSTALLATION PAGE 7



